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#include<bits/stdec++. h>

using namespace std;

int main() |

double a, b, c:

cin >> a >> b > c: |
cout << fixed << setprecision(0) << ceil((c —a) / (a-Db)) + 1;
return 0;
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#include <bits/stdc++.h>

using namespace std;
string n, m;

o i

s, JRS—MERR

ICR My, REXHEIL.
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int x, y, f;
int main() {
cin >> n >> m;
for (int 1 = 0; 1 ¢
for (int j =
if (nli)
X = 1;
y = J;
f=1;
: }
I
}
for (int 1 =

for (int j = 0:

n. length() ; i++) {
; j < m length(); j++) {
=mnlj] & f =1 {
m. length(): i++) {

j < n.length(): j++) {
{
m[i];

} else if (i == y) {

.

SR i M

if (j = x)
cout <<
cout<

} else | |
cout <<

}

}

cout << endl:
}
return 0;
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ST 20% BOBHE, n— 1, 1< h, r < 10°, AREORSHERE 10°,
HF 40% 9EHR, 1 <n <8, 1 <h, r < 10%, ViFAvEIHERET 107,
3T 80% RIEER, 1 <n <10°, 1 < h,r < 10%, AHRAVEIIEREL 10%,
3FF 100% B9EEE, 1 <n <1x10% 1<h,r<10°, T <20, SiFHEIHEFRE 107,
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.;EJ; q: include<iostrean

include<{cmath

1. dfsiE#ZR0(n? x T) fdekion St leng Jonm

using nfanespace Std:
L. int t, £=0;
Z2(f9: C23panweiming ints b
int y1(1005]:
int 2101005

P an

signed main!()

:-in‘ A ttf‘ oW E1C A 1) bool vis[1003];
r:?n . a > hl i double dist(int ax, int ay, int az, int bx, int by, int bz)
£=0 : return 1.0 * sqrt( {ax — bx) * (ax — bx) + (ay — by) * (ay — by) + (az — bz) * (az - bz) )

memset (xl, 0, sizeof xl);

memset (yl, 0, sizeof vl);

memset (z1, 0, sizeof zl);

memset(vis, 0, sizeof vis):

for(int i = 0. i < n; i++) o
cin x1ii] ylli] z1{il;

void dfs(int id) |
if(zl{id] + r>=h & f = 0)
cout "Yes\n";

f=1

vis{id] = 1;

; . ; : for(int i = 0; i < n; i+¥)
( = 0 C i) s TR : Folk cowiae cawods cedka) amew o >
for(int i % S if(!vis[i] && dist(x1[id], yl[id], zl[id}, x1[i], y1[i], z1[i]) <= r # 2)

if(!vis(i] && z1[i] - r <= 0)

2 ' dfs(i);
dfs(i), =
if(f == 1) if(f = 1)
break: return
if(f = 0) | !
cout “No\n";
I —————————————————————————————————

return U,
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cin >> t,
while(t--) |
int ans = 0;
.Ejﬁﬁg cin >> n>> h > r; 3
memset(vis, (), sizeof(vis!)),

queue<node’q,

2. bfsfZE0(n* x T) AR b B ity ol
if(a[}]t_z] <=7) {
V1831] = %

%5%1—%53 . C23Sh|We| ] q.push(alil),

)
while(!'q. empty()) |
auto t = q. front(),

: q.pop(),
#include<bits/stdc++. h if(t.z +r >=h) |
8define int long long :"S:kl-
#define db double mha
using namespace std; for(int i = 1, i <= n, i+)iflvisli] == 0) |
int t. n. h, r., vis[1010]: if(di;([t:]x. tiy, t.z, alil.x, alil.y, alil.z) <= 2* 1) (
| visi1i) = .

Stmf:t n‘?dev A zZ: q.pushf(alil),
} al1010]; = )
db dis(db x1, db yvl, db zl, db x2, db y2, db z2) | ]'t( \ < "y P

= 2 il e How] ==y dg o 2] =k i ans,cout;v“z e§l\n ,

lnt d4t Xl , .\u.n y _v Y‘-, oy Blse cout << No\n }

return sqrt(dx * dx + dy * dy + dz * dz); )
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using namespace std;
string a[1@5];

ORI, FREEARIE], Ik iyt TSR AR 92
cin>>n>>m;

SZ88: C23liupeilin  fortint i=osiiimcinyalil;

cin>>hp>>sti>de>>fx>>fy>>sti>>deir>q;

while(qg--){

int op;

cin>>op;

if(op==1){cout<<hpi<<" "<<sti<<" "<<dei<<endl;continue;}

int z;

cin>>z;

switch(z){
case 1:fy--;break;
case 2:fy++;break;
case 2:fx--;break;
case 4:fx++;break;

}

switch(a[fx-1][fy-1]){
case 'R':hpi=max(hpi-16,0);break;
case 'Q':sti+=5;break;
case 'Y':dei+=5;break;
case 'M':int n=ceil((double)hp/max(1,sti-de))*max(1,st-dei);hpi+=max(1,n);break;
}
}

return 8;

}
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33 F 80% ROEHRE: 0 < n < 80, —107 < k; < 107
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ginclude<bits/stdec++. h

S 4 . '
;*: I using namespace std;
§ I; const int maxn = le3 + 5;

int n, almaxn], dplmaxn]:

int main()

® T fiR int t;
scanf ("%d”, &t);
BRIE I < FIE/N, While(t—g(),,w{d” -

BB FEYA MRS ZF IR A, gl L e S
REAL S REGIRIRAR T for (int i = 1; i ¢=n; i+4)
[#FFF5lans, eREGIZ e, OO0 MY BRI Bn Seealil
MsumiBESEARR NEF 75! 7 doli] = al alil; y 1 R
ansEDjj.:,Ko for (1nt J o 0B V. j m = Jeee]

if (ali] >= alj] e

dp[l] = x(dp|11 dplj] + alil):
. ans = max (ans, dp [1i]) -
brintf(”%d\n”. sum - ans) ;

|

return 0O:
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T 40% B9%EE, n < 1000,
FF 70% HIEER, 1 < a; < 5 x 10°,
S9F 100% B9EE, 2 <n<2x10°, 1 <a; <5 x 10°,

Z=IFint, 1818FFlong long,
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7k, BlentZidH, LERIRIRISZRE 0(Va; xn) .
EENEEN N, BZEFIERIREEITERITE,
RIRIZEHIEEN I+ (RZEBEERR) .« Fr
Llans += cnt[a[i]] — 1,

ginclude<bits/stdc++. h>
typedef long long 11;
using namespace std;
const int maxn = 5ed + 10;
int almaxn], cnt[maxn];
int n, numl, num2;

11 ans = 0;
int main() |
scanf ("%d”, &n):
for(int 1 = 1; 1 <= n; i+4)
scanf ("%d”, &alil);
for(int j = 1; j * j <= a[i]; j+)
if(ali] % j = 0) |
numl = j, num2 = ali] / j:
cnt lnuml | ++;
if (numl != num2)
cnt [num2 | ++;
for(int i = 1; i <= n; i++)
ans = ans + centlali]l] - 1;
printf("%11d\n”, ans):
return 0;
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1. BEAVEL: TR a; = a; , BRAZIEE
& cnt[i] x (ent[i] = 1) , EAEERNAERINE.

2. FEIRYEL: IR ai # aj, BBA a2 i HY
5280, Bla =k xi (HF k 2—EEE) |, i)
RBFUHEEL k < iBIHIUREL ent[k x i), FHEIT

BEXIEB A cntli] x ent[k x ],

ginclude<bits/stdc++. h
typedef long long 11;
using namespace std;
const int maxn = 5e5 + 10;
int cnt maxn|/;

int n, X;
11 ans = 0}
int main() |
scanf ("%d”, &n) ; _
for(int i = 1; i <= n; i++) {
scanf ("%d", &x);
cnt | x]++;

for(int i = 1; i < maxn; i++) {_
ans += 111 * centl[i] * (entli] — 1);
for(int j=1 +1i; j < maxn; j += 1)
ans += 111 * cnt[i] * cntlj];

printf("%11d\n”, ans):
return 0O;




